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BOARD OF SCHOOL EDUCATION HARYANA

Sample Question Paper (2025-26)
CLASS: 11" (Code: 835)

G
MATHEMATICS

[Time allowed: 3 hours] [Maximum Marks: 80]
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General Instructions:
e This question paper consists of 38 questions in total which are divided into five sections:
A,B,C,D,E:
Section A: This section consists of twenty questions from 1 to 20. Each question carries 1

mark.
Section B: This section consists of five questions from 21 to 25. Each question carries 2

marks.
Section C: This section consists of six questions from 26 to 31. Each question carries 3

marks.
Section D: This section consists of four questions from 32 to 35. Each question carries 5

marks.
Section E: This section consists of three case based questions from 36 to 38. Each

question carries 4 marks.

o All questions are compulsory.

e There are some questions where internal choice has been provided. Choose only one of
them.

e Use of calculator is not permitted.
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SECTION — A
5T G 7 TAF JIUT 1 HF FT 51

This section comprises questions of 1 mark each.

1. ofT A= {a, b, c,d, e} 3T B={d, e, f, g} T (A-B) N (B-A) &
(A) @ (B) {a, b, c} ©) {f g} (D) {a, b, ¢, f, g}

If A={a, b, c,d, e} and B= {d, e, f, g} then (A-B) N (B-A) is

(A) @ (B) {a, b, c} (©) it g} (D) {a, b, c, 1, g}
2. 9= U={1,2,3,4,5,6,7,89}, A= {1,3,57,9}, B= {2,468}, T (AU BY

(A) {1,2,3,4,5,6,7,8,9} (B) {} (©) {1,3,5,7,9} (D) {2,4,6,8}

IfU={1,2,3,4,56,7,89}, A= {1,3,5,7,9}, B= {2,4,6,8}, then (A U B)' is

(A) {1,2,3,4,5,6,7,8,9} (B) {} (©) {1,3,5,7,9} (D) {2,4,6,8}

3.2 = faft v g &
(A) 150° (B) 300° (C) 90° (D) TAH T FE 7T

51 . .
~ in degree measure is
(A) 150° (B) 300° (C)90° (D) none of these

4.1+ 1" ®T a+ib TTE:

(A)0+1i (B) 1+1i (C)0+1i0 (D) TAH | FIE dal

a+ib form of i’ + i% is :

(A)i (B) 1+i (C)0+i0 (D) none of these
5.9 —+ - =2 AAXFTATE

6! 7! 8l
(A) 100 (B) 64 ©)8 (D) 10
If B s then value of x is:
6! 7! 8!
(A) 100 (B) 64 ©)8 (D) 10
5 5 5 . _

6.@?1‘(9%1?5,;,5, . FT20AT IR

(4)20 (B) = ©) =% (D) =
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20™ term of the G.P. g ,%,%, s
5 5 5
(A) 20 B) 5% ©) 75 D)
7.x FT ag 919 S| forw geame -3/11, x, -11/3 Ion<e 9oft § 8
(A) 1 (B) +1 (C) -1 (D) +33

The value of x for which the numbers -3/11, x, -11/3 are in G.P.
(A) 1 (B) 1 (©) -1 (D) £33

8. cos (X - a) T ATHAT g:
(A) sec (x - a) (B) -cos (x - a) (C) —sin (x - a) (D) THH ¥ &S A5l

The derivative of cos (x - a) is:

(A) sec (x - a) (B) -cos (x-a) (C) —sin (x - a) (D) None of them

9. T Fwg, YA T HIHAF (99T 5 &, qT ST TEL0 3
(A) 25 (B) 5 (C) V5 (D) =78 | FIs A1

If the standard deviation of a data is 5, then its variance is:
(A) 25 (B) 5 (C) V5 (D) None of these

10. = A 9T B & T8I IS HeATT gi, aql
(A)ANB=0 (B)AUB=0 (O)ANB=U (D)39H q &5 Aal

If A and B are two mutually exclusive events then,
(A)JANB=0 (B)AuB=9 (CO)ANnB=U (D) None of these

11. (2x - 5)* o YA | FeA &I %0l F&AT AT i o T |

Find the number of terms in the expansion of (2x - 5)%.

12. %% (-2, 3) TAT AT 4 AT T AT THIHLIT AT 0l Tor0|

Find the equation of the circle with centre (-2, 3) and radius 4.

13. lim 23 =7 719 forfaro

X—o4X—2

4x+3

Write the value of lim )
X—o4X—2

14. 2 v 99T § 31T ¢ AT @97 g, Al v 3T 6 & S 797 qeel g7

If v is the variance and o 1s the standard deviation, then what 1s the relation between v and
o?

5. FF R AT I HF T R T, 0 NA=.............
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Fill in the blank to make the statement true, @' N A =

16.tan (A-B) ..ooovennn.... & THTT 8l

tan (A-B)isequalto................. :

n!

17. "C= 2,

I (T<T | STqT)

n!

nC, = o (True/ False)

18. 72 UF Iof § A ATA W& g, AT AT 4G A a0l TTAHar 1 g1 (9T / F9A)
If a bag has only red balls, the probability of picking a blue ball is 1. (True/ False)

T AT 19 ST 20 SATHHAT 3T Teh AT T 5, OTAH & T T7 1 3 7 g1 T /9T

fam w8, U A7 AfFeT (A) A H TE (R) iR BT = 81 29 v F 9g I
A= Ru T *ET (4), (B), (C) 3T (D) & § FAFRL <o |

(A) ATHFRAT (A) ST Toh (R) AT Fal g 3T Th (R), Al (A) il A1 ATEAT Bl

(B) ATHFAT (A) T T (R) TAT Tal &, T=q T (R), AT (A) T Tl ATEAT 77
FaT gl

(C) ATTFHFAT (A) Tl g 9T deh (R) TAd g

(D) ATHFRAT (A) TAT & TAT T (R) Tal gl

Question number 19 and 20 are Assertion and Reason based questions carrying 1 mark each.
Two statements are given, one labelled Assertion (A) and the other labeled Reason (R). Select
the correct answer from the codes (4), (B), (C) and (D) as given below.

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct explanation of
the Assertion (A)

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the correct explanation
of the Assertion (A)

(C) Assertion (A) is true and Reason (R) is false.

(D) Assertion (A) is false and Reason (R) is true.

19. ST (A): T A={1,2} 3f¥ B={3,4} d1, A ¥ B T &aell &l §€47 16 2|
T& (R): TR n(A) = p I n(B) = q, AT A ¥ B T G4 sl HEAT 224 B
Assertion (A): Let A={1,2} and B={3,4}.Then, number of relations from A to B is 16.
Reason (R) : If n(A) = p and n(B) = q, then number of relations from A to B is 2P9 .

20. Tt (A): T&15 (3, 0, -5), XZ o1 9X o 28l
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T (R): XZ T | U {65 P(x, y, z) % H=eri (0, 0, z) B
Assertion (A): The point (3, 0, -5) lies on the XZ plane.
Reason(R): The coordinates of a point P(x, y, z) in XZ plane are (0, 0, z).
gs-d
SECTION - B
59 @< H I AF JIUT 2 % T 51

This section comprises questions of 2 marks each.

21.99gF {-1,0, 1} F O ITAHFAT T = aa1241

List all the subsets of the set { -1,0, 1 }.

22. /5 + 3i FT OITHE AT AT il
Find the multiplicative inverse of V5 + 3i.
Iq4aT / OR
(1—i)* @& a+ib F &I H =A<H dITorU|

Express (1 —1)*in the form of a + ib.

23 328 5(23_X) FHTIHT FT 2 1T

5

— 5(2—
Solve the inequality 3(x—2) < (2-%) .

3
24, 37 IOTE HOT T 10aT 92 AT IS0, St 397 98 24 TAT 6at 92 192 2|

Find the 10" term of a G.P. whose 3™ term is 24 and 6" term is 192.
25. qXFAT T FHIHLOT AT hITor0 FSrEeRT o (0, 0) 3T AT (0,2) 2 |

Find the equation of the parabola with vertex at (0, 0) and focus at (0, 2).

Faar/ OR
S ETHgT AT GHIHLOT AT hitorT, [Sreeh o (0, +13) TAT ATCAT (0,£5) B

Find the equation of the ellipse, whose vertices are (0, +13) and foci are (0, £5).

gs-9q
SECTION — C
57 @S H IAF TIT 3 % FT 51
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This section comprises questions of 3 marks each.

26. I U = {1,2,3,4,5,6,7,8,9}, A = {2,4,6,8} 3T B = {2,3,5,7)4T, waToq Hifera
(AUB)=A'NnB'I

fU={1,2,3,4,5,6,7,8,9}, A= {2,4,6,8) and B = {2,3,5,7} .Verify that (A U B)= A'n B".

27.V4 — x2 FTEqTas BAT HT I TAqT TREL 1T o7

Find the domain and Range of the function V4 — x? .

28. (x2 + 3;)4;x¢0$TW§rraBﬁﬁm

(w2 4 3 *,
Expand: (X + X) ; X0
FAI4T1/ OR
(1.01)1000000 35 10,000 F F hi= HT T&AT T2T 272

Which is larger (1.01)19090% or 10,0007
29. TTHA 8, 88, 888, 8888, ........ % n T&I T TRT ATT i

Find the sum of the sequence 8, 88, 888, 8888, ........ to n terms.

FAI4T1/ OR
7fT I gATHE FEATH F S THTRAT WTET AT O HIET FHLr: 10 AT 8 g, v

HEAT AT it |
If A.M. and G.M. of two positive number a and b are 10 and 8 respectively, find the
numbers.

30. U Tg3ll & THGT FT THIHT 1T DT o1 695 (1, 2, 3) 37 (3, 2,-1) F THEET 2|

Find the equation of the set of the points P such that PA? + PB? = 2k?, where A and B are
the points (3, 4, 5) and (-1, 3, -7), respectively.

31. 9 IUASY ATSTHHAT § & , Tk (AT 5 TTSThHT 7 FAT Fohd e TR H FT Gl & , T[S
S el & o 2 fafers areawy aRard g 2

In how many ways can a student choose a programme of 5 courses if 9 courses are
available and 2 specific courses are compulsory for every student?

gs-T
SECTION -D
ZF @S H IAF TIT 5 dF FT 51
This section comprises questions of 5 marks each.
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() frz IR (cos 7x + cos 5x) _ cot x 3)

(sin 7x — sin 5x)

.. 5
(ii) F*rg Hfso cotzg +cosec?“+3tanzg =6 ()
sin 5x—2 sin 3x + sin x
Prove that: = tan X 3)
COS 5X — csos X
Prove that: cotZE + cosec ?“ +3 tanzg =6 (2)

g (-1,3) T @1 3x — 4y — 16 =0 T ST T AGATE o (HG9TH ST i1
Find the coordinates of the foot of perpendicular from the point (-1, 3) to the line
3x—-4y—-16=0.

TT4T /OR

93 (3, 2) & ST ATAT I T@T T THIHLOT FATT i 1o ST @T X — 2y = 3 & 45° FT &[0T
T B

Find the equation of the lines through the point (3, 2) which make an angle of 45° with
the line x — 2y = 3.

TIH TETd & cos x FT ATFHAST T hIToTU]

Find the derivative of cos x from first principle.

4T /OR

ﬁmwﬁaﬁmﬁm%ﬁq}}%f(x) E 1Ky lim f(x) Tl FT Afeqed g, A fix) =

mx? + n, x<0

nx + m, 0<x<1
nx3 + m, x>1
mx? + n, x<0
Suppose f(x) =4 nx + m, 0 < x < 1. For what value of m and n does both lim f(x)
nx3 + m, x>1 x>0

and lin} f(x) exists?
X—

[ e NI e Nl anN

ferferfera s & oo arex, w9 7 a9+ fo=a sta fifsro:
CEll 0-10 10-20 | 20-30 | 30-40 | 40-50
CIECIES] 5 8 15 16 6

Calculate mean, variance and standard deviation for the following distribution.
Classes 0-10 |10-20{20-30|30-4040-50

Frequecies 5 8 15 16 6
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gs- 3
SECTION - E
2T G H JAF TIT 4 HF FT 5/
This section comprises questions of 4 marks each.
Case Study — 1

36. ERTOTTHATT Tl o TRT AT (AL Al FHTad Gl FT STANT Fileh [UIAFRA o6 & §

FaAT ST 9ohdT &

(a)sinC+sinD=25in%cos%
(b) sinC—sinD=2cosC+TDsinc_TD
(c)cosC+cosD=2cos$cosC;—D
(d)sinC+sinD=2sinC+TDsinDT_C

SYRITE STTTFIRT & JTETT 97 [FEiaiad g1 & 397 197/
(i) sin 80° — sin 20° FT T g

(a) cos 30° (b) cos 60° (c) sin 30° (d) cos 50° (1)
(i) cos 15° - sin 15° T HT9 &
() (b) 2 OF @)= (1)

(iii) sin 70° + sin 80° 3 HATHTT &:

(a)2 cos15°.cos 5°  (b) 2 sinl5°.sin 5° (c) 2 cos15°.sin 5° (d) UL § H Fs A1 (1)
(iv) cos 51° + cos 81° - cos 21° T | &:

(a)l (b) 0 (c) -1 (d)2 (1)

The sum or difference of trigonometric functions can be transformed into a product of

trigonometric functions by using the following formulae:

(G)SinC+sinD=Zsin%cos%
(f) sin C - sin D =2 cos = sin —
(g)COSC+c0sD=2cos%cosC;—D
(h)sinC+sinD=25in%sin%

Based on the above information, answer the following questions.

(1) The value of sin 80° — sin 20° is:
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(a) cos 30° (b) cos 60° (c) sin 30° (d) cos 50° (1)
(11) The value of cos 15° - sin 15° is:

(b) (b) 2 ©3 (@)= (1)
(i11) sin 70° + sin 80° is equal to:

(b)2 cos15°.cos 5°  (b) 2 sinl15°.sin 5° (c) 2 cos15°.sin 5° (d) None of these (1)
(1v) cos 51° + cos 81° - cos 21° is equal to:

(b)1 (b) 0 (c)-1 (d)2 (1)

Case Study — 2

37. 60 FTAT T Tah FEAT |, 30 7 NCC, 32 7 NSS ¥ 24 7 NCC 3T NSS IH1 &l FAT| FeT
H U T I ATG o5 ®F F A7 17 3

SYTITE STTFFIRT F AT T [AFTaiad 741 & 377 Af9T:
(i) BT 7 Faed NCC FT FsheT FA7 g THehT ITahar g -

(a) 3 O~  ©5 (d) 5 (1)
(ii) T T NCC 3T NSS IHT &7 fashed 47 §, 0! Il g
(a) < (b) 2 OF (d) 5 (1)

(iii) BT & NCC AT NSS T [aed FAT g, THA! Tl 5.
(a) = (b) 2 (©) 5 (d)= (1)

(iv) BT 7 7 a7 NCC3I¥ 7 gt NSS T &7 fasheq F47 7, Teeht ITaehdT &
(a) = (b)= OF: (d) = (1)

In a class of 60 students, 30 opted for NCC, 32 opted for NSS and 24 opted for both NCC
and NSS. One of the students is selected at random from the class.

Based on the above information answer the following questions:

(1) The probability that the student has opted for only NCC is:
1 1 19 11
OF D=  ©= D= (1)
(11) The probability that the student has opted for both NCC and NSS is:
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1 2 19 11
(a) 5 (b) < (©) 55 D3 (D
(111) The probability that the student has opted for NCC or NSS is:
1 2 19 2
(a)7 (b) ¢ (©) 35 (d) = (1)
(1v) The probability that the student has opted neither both NCC nor NSS is:
1 2 11 2
(a)3 ®: @z @ (1)

Case Study - 3

38. AT & ¥ e TSI AT AMTET, ST STl AT (ATAT ) H Taeael F:i3d g,

ST AT H T Taeh S(aT| dg e deh | AT (o7 & ST hiee § ¥07 9a Stia-

AT TIH TAAIE 5

SR STIFFIRT F HATETT T [AFTaiad T & 377 90

(i) I T T AR TATST SR ST ATl (Srafer) 7 R (1)
(i) 7S =7 T T FHHLT x2 = -16y g, AT AT (Frwe) 7 FAena forfam) (1)

(iii) TQTOERT (STALTFZHT) T THIRLOT AT T-ASH TFHH il TS (AT (2)

B N
; ~=

Indian track and field athlete Neeraj Chopra, who completes in the javelin throw, won a gold
medal at Tokyo Olympics. He is the first track and field athlete to win a gold medal for India
at the Olympics.

Based on above information, answer the following:
(1) Name the shape of paths followed by javelin. (1)
(11) If the equation of such curve is given by x> = - 16y, then write coordinate of foci. (1)

(111) Write the equation of directrix and length of semi- latus rectum. (2)



